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SECTION 4: QUANTITATIVE REASONING
35 minutes » 20 questions
(The paper-delivered test will have 25 questions fo be completed in 40 minutes.)

For each question, follow the specific directions and choose the best answer.

For Questions 1-8, compare Quantity A and Quantity B. Some questions will have
additional information above the two quantities to use in derermining your answer.

1. Quantity A Quantity B
7
6 3.42(2)
8
A. Quantity A is greater
B. Quantity B is greater.
C. The two quantitics are equal.

D. The relationship cannot be determined from the information given,
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peax< O
Quantity A Quantity B
|+ Iyl

Quantity A is greater.
Quantity B 15 greater.

The two quantities are equal.

"EE SN S

The relationship cannot be determined from the information given.

Assume g and & are two different integers.

Ouantity A Quantity B
{a+5)? {a + &)3

Quaatity A is greater.
Quantity B is greater.

0" P

.

The two quantities are equal.

©

The relationship eannot be determined from the information given,

1

The area of the triangle s 15,

Quantity A Quantity B
" i2

A. Quantity A is greater.
B. Quantity B is greater.
C. The two guantities are equal.

D. The relationskip cannot be determined from the information given,
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10. A regulag, six-sided die is relled three

times. What is the probability that cach

of the three rolls will product an odd

number?

A.

B.

C.
D.

E.

U= Ml-—‘

L2 Lol N

L
216

For Question 11, indicate all the answers
thhat apply.

11. Find the next 3 rumbers in the sequence.

12

1,1,2,3,5,8, ...

A,

ZommE Y OoR

12
13
14
21
22
33
34
55

Let f(x) = —3x2(1 - x). Find /(-2).

A.

Hoaw

108
36
12
-12
-36

SHOWYOUR WORK HERE
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Questions 16-18 are based on the following data.

Annual State Budgets (in millions of dollars)

State A 53.0 75.9
State B 14.4 14.5

16. What is the ratio of the total (State A +

18.

State B} estimated budget of 2016 to
2011's budger?

A, 33.7:928

B. 142.1:53.0

C. 43.5:144

D. 14.4:435

E. 92.8:33.7

. What is the total budget for State A for

2011, 2012, and 20152

A, 681

B. 260.1

C. 268

b, 2764

E. 308.7

Whar year had the biggest percentage

increase from the previous year in State B,

and what was the pereentage increase?

A. 2013, 138%
B. 2015, 206%
C. 2014,37%
D 2015, 106%
2. 2016, 11%

0

85.5
20.0

aet4 2015203668t
101.6 131.2 142.1
12.0 39.2 43.5

SHOW YOURWORK HERE

WWW. pctersons.com

71



Chapter 3: Practice Test 1: Diagnostic Test

SECTION 5: QUANTITATIVE REASONING

35 minufes » 20 questions
{The paper-delivered test il bave 25 questions tu be completed tn 40 minudes.)

For each question, follew the specific directions and chouse the best answer.

For Questions 1-8, compare Quantity A and Quantity B. Some questions will have

additional information above the two quantities to use in determining your answer,

1. Quantity A Quantity B
0324875 10
31
Quantity A is greater.
Quantity B is greater.

The two quantities are equal.

c 0w

The relationship cannot be determined from the information given.
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A

» 21

Assume lines 7 and s are parallel.

Quantity A Quantity B
A ¥y

Quantiry A is greater.
Quantity B is greater,
The two guantitics are equal.

The relationship cannot be determined from the information given.

Oantity A Quantity B

s 16
16 15
Quantity A is greater.

Quantity B is greater.
The two quantities are equal.

The refationship cannot be determined from the information given.

There are 15 players on Team 1. There are 22 players on Team 2.

There are more offensive players than defensive players on each team.

Quantity A Quantiry B

Number ef goalies on Team 1 Number of goalies on Team 2

Quantity A is greater
Quantity B is greater.
The tweo quantities are equal.

The relationship cannot be determined from the information given.
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10. If 2x — y=—1and 3x + 2y = 16, whar is &7

11.

12,

If l_F_1:3X_{Lﬁ,thcﬂ x=

A, S
B. 2

(3
. -_7
n L

2
E.

I3

3
A, -8
B. -1
.0
D. 1
E. §

A new model hybrid car gers 45 miles per
galton for city driving and 20% more for
highway driving, How many miles per
gallon does the hybrid get for highway

driving?

Al

m o 0@

34

6
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SHOMW YOURWORK HERDE
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16.

17.

18.

Chapter 3: Practice Test 1: Diagnostic Test

What percentage of the familics has 6
children?

A 19

B. 9

C. 15

D. 12

E. unknown

In the xy-plane, whar is the slope of a line

that is perpendicular to the line whose
equation is x + 2y =57

D. 2

E. 5

What is the x-coordinate of the point
at which the graphs of the equations
x+2r=4 and y—x =2 intersect?
A -8

—2

T 0w

gl

16

SHOWYOUR WORK HERE
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